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C TION -2024

OMmon SECOND TERM SUMMATIVE Ex‘:ﬁ“ -1
Standayy - VI .

Nhr.- 2.00 » mm';: T1CS Marks:60

L Choose the correct answer : A 10x1=10

. 1h¢mmmm5uccuuu,,w¢numb‘"'

d)o

a)l p) 2
2. The greatest 4 digit number which ig w divisible by B, 9 and 1% is
#) 9999 b) 9996 ¢) 9696 @99%
{ Jweeks = days.
a2 b) 7 c) 14 d) 28
4. 2va years Is equal to months,
a) 25 Y30 c) 24 d) 5
S. 'Overhead expenses’ is always includeq jn
a)S.p byc.p 9 pmm d) Loss
6. If two sides of a triangle are Scm ang gcm, then the third side is
3)'Sem b) 3cm ¢) 4em 4) 14cm
7. An equilateral triangle is ;
a) an obtuse angled triangle . b)a right angled triangle

£)an acute angled triangle

'd) a scalene triangle
- What are the angles of an isosceles right angled triangle?

27909, 450, 450 ) 900, 300, 60° ' c) 909, 350, 550  d) 90°, 40°, 50°
9. SP=MP- ; :
»‘1/ c.p b) Profit ¢) Loss d) Discount
10. Silver Jubliee = anniversary. "Bl
a) 50 Hy2sth c) 7oth d) 60'" 10
2 M i
IL Fill in the blanks: .  Sxi=Y
11. The HCF of two successive even number is _ =~ '
12. 20 minutes = |7 [Dg _ seconds. ,,;
13. The only even mmenumberis______. 2 Kl e €
14. Sum of three angles of a triangle is m |Se \
15. Every triangle has atleast ______ acute aniges.
XL Match the following: 5x1=5
16. One right angle . 12.00 hours
|7. One obtuse angle - 14.15 hours
8. 2.15a.m, . Obtuse angled triangle
9. 2.15p.m. . 2.15 hours
0. 12.00 noon - Right angled triangle
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IV Answer any tan quastions
| WL M 10 18 e PN e method .

A 10 8 e g peime aumber 00 W,
— o, e uf iy BIONS 15 10 1 0 9180 ony

e fumisers 18 and 30

N, mm)
Wlﬂﬂ" e following y8&S 4% oruinary or Leap yeer?

¥) 3000 ") 2010 v) 2024
s ' months into yeers.
Vg Susaract 'OW‘NM”-‘%

Proft O Loss to Rani
I Gune ATk hiy
b wipd Mhuﬂ’wr]”wm.m’tw.m
c‘::"'"":wm?m- 10cm and Sem as its sides? '
'Cmmu-au-mm.m"m““’"' 80°, 30°, 407 %9
Cnmktbmhuam::.’”w' u , T =
-
PART - 11 '
:; _-ru:yﬂum Sx3=1%
wha' mnumbtrthatmd
g v | mu,nmlmmmm
“ﬂmMmmmmduMMunuummmu

exactly the volume of milk In cans (In full capacity) of 80 litres, 100 Ntres and
120 itres?

Saritha bought 6m and ﬂgﬂﬂdoﬁfwhmﬂ.ﬁ]m.ﬁm#dw\fw

her sister. What was the total length of the cloth bought by her?

37, The clock i1s set at 7 a.m. If the clock slows down two minutes every hour, find
the tifne shown by the clock at 6p m.
Somu boaught a second hand bike for €28,000 and spent T 2,000 on its repair. He
oM if for ¥ 30,000. Find his profit or less.

W If two angles of a triangle are 55°, 859, find the third angle,

4 Convert Into tree diagram [(9 - 4) x B] + [(8 + 2) x 3)

PART - IV
VI. Answer any one of the following: 1x5=5

11 Draw 8 line segment AB = 7cm and mark a point P on it. Draw a line perpendicular
to the given line segment at P. (OR)

Draw a line sagment measuring 7.8cm, Mark a point B above it at a distance o
Scm. Through B draw a line parallel tathe given line segment.
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